
BIOLOGY LAB
UNIT 7
GENETICS - PROBABILITY

PURPOSE: To determine probability in genetics.
MATERIALS: 40 brown glass beads, 40 blue glass beads, paper bag.
PROCEDURE: 

1)
Count your beads to be sure that you have the correct number of beads: 40 brown and 40 blue.

2)
Mix the beads together in the paper bag.

3)
Draw two beads at a time, with out looking at them, and determine which combination you have: brown/brown, brown/blue, or blue/blue.

4)
Place the beads, in pairs, in columns according to combination.



Brown/brown

Brown/blue

Blue/blue




Br/Br


Br/Bl


Bl/Bl
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5)
Continue to draw beads out of the bag and place them into their correct column until you have drawn 35 pairs of beads

6)
Count the number of pairs in each column and record this number in your data table.

7)
Repeat for a total of 10 trials, recording each on you data table.

8)
When you are done filling in your data table complete the class table supplied by your teacher.

HYPOTHESIS: What genotype ratio do you expect? What phenotype ration do you expect?
DATA: 
	Trial
	Br/Br
	Br/Bl
	Bl/Bl
	Genotype
	Phenotype
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INTERPRETATION: Was your hypothesis correct?
QUESTIONS: 

1)
What do each of the glass beads represent?

2)
What is represented by the mixing of the beads in the bags?

3)
Which of Mendel’s laws is represented by drawing the beads blindly from the bags?

4)
Why do you only draw two beads from the bag at a time/

5)
If brown is dominant, what is the final genotype ratio?

6)
If blue is dominant, what is the final genotype ratio?

7)
If brown is dominant, what is the final phenotype ratio?

8)
If blue is dominant, what is the final phenotype ratio?

9)
If brown is dominant for brown eyes and blue recessive for blue eyes, how many people out of 100 would have brown eyes?

10)
If brown is dominant for male pattern baldness and blue is recessive for non-baldness, how many people out of 100 would have the possibility of passing on a bale pattern baldness gene to their offspring?

11)
If brown is dominant, what is the final genotype ratio of the class?

12)
If blue is dominant, what is the final genotype ratio of the class?

13)
If brown is dominant, what is the final phenotype ratio of the class?

14)
If blue is dominant, what is the final phenotype ratio of the class?

15)
How does your data compare to the class data?

CONCLUSION: So, what did you learn from the lab?


